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:arsoLbs Vhsg :LC pdhmenpbhmf sgdhp Zlahshnm hm sgd rbhdmsh’b ghfg
odpenplZmbd bnlotshmf dbnrxrsdl) vd dwsdmc sgd gZpcvZpd rbnod ne sgd
gkiGn khmdZp ZkfdapZ oZbjZfd sn edZstpd Z GHO aZbjdmc enp :LC FOTr-

Hm sghr oZodp) vd pdonps Zmc chrbtrr sgd onpshmf d nps epnl ATC:)
sgd dwsdmrhnm ne sgd GHO epZldvnpj sn Zcc lhrrhmf edZstpdr rtbg Zr
bnnodpZshud fpntor) sgd odpenplZmbd ophbd ne bnlohkhmf GHO bncd enp
:LC Zpbghsdbstpdr) Zmc sgd cdrhfm ne Z khapZpx opnuhchmf mZshud aZbjdmcr
enp MUHCH: Zmc :LC FOTr vghkd lhmhlhyhmf bncd ctokhbZshnm ax trhmf
Z rgZpdc bncd aZrd-

Fdwtnocr6 OnpsZahkhsx ≈ FOT ≈ ATC: ≈ GHO

Hmspnctashnm

Nudq sgd k]rs cdb]cd+ FOTr g]ud addm drs]akhrgdc ]r sgd l]hm onvdqgntrd hm
kd]cdqrgho rtodqbnlotsdqr Y0[- FOTr g]ud oqnudm u]kt]akd bnlonmdmsr sn ]bbdk,
dq]sd bnlots]shnmr mns nmkx enq l]bghmd kd]qmhmf vnqjkn]cr+ ats ]krn enq mtldqh,
b]k khmd]q ]kfdaq] khaq]qhdr onvdqhmf bnlots]shnm]k rbhdmbd Y1[- =r ne snc]x+ =LC
]mc MUHCH= ]qd bnmrhcdqdc sgd l]hm FOT l]mte]bstqdqr- Hm sgd o]rs+ rnesv]qd
d nqsr oqhl]qhkx enbtrdc nm MUHCH= FOTr ctd sn sgd bnloqdgdmrhud BTC=
cdudknoldms dmuhqnmldms ]mc sgd bnllnm ]cnoshnm hm GOB bdmsdqr- Vhsg sgd
mdws kd]cdqrgho rtodqbnlotsdqr cdoknxdc hm sgd TR M]shnm]k K]anq]snqhdr adhmf
dpthoodc vhsg =LC FOTr Y1[+ ]mc sgd TR Dw]rb]kd Bnlotshmf Oqnidbs”r lhr,
rhnm sn oqnuhcd l]sg etmbshnm]khsx nm sgd kd]cdqrgho rxrsdlr+ vd dwsdmc sgd
rbnod ne sgd gkiGn khaq]qx sn ed]stqd ]m =LC FOT a]bjdmc-

Hm sghr o]odq+ vd qdonqs ]mc chrbtrr sgd d nqs ne onqshmf ] BTC=,enbtrdc
khaq]qx sn sgd GHO dbnrxrsdl- Vd dk]anq]sd nm sgd trd ne sgd odqk,a]rdc rbqhos
oqnuhcdc ax =LC sg]s ]hlr ]s rhlokhexhmf sgd sq]mrhshnm oqnbdrr+ hsr ohse]kkr
]mc fi]vr- Vd ]krn ]rrdrr sgd odqenql]mbd GHO,a]rdc bncd ]bghdudr nm MUHCH=
]qbghsdbstqdr vgdm bnlohkdc trhmf MUHCH=”r mubb bnlohkdq-



Sq]mrhshnmhmf ] bncd a]rd eqnl nmd ]qbghsdbstqd sn ]mnsgdq+ ]mc ok]senql
onqs]ahkhsx hm fdmdq]k+ hr ]m hlonqs]ms oqnakdl hm sgd rnesv]qd sdbgmnknfx dbnrxr,
sdl- Hm o]qshbtk]q+ sgd mtladq ne ]cnosdqr ]mc bnmsqhatsnqr ne bnlltmhsx rnes,
v]qd rb]kdr nmkx hm sgd oqdrdmbd ne fnnc ok]senql onqs]ahkhsx- Sgd d nqs ne onqs,
hmf ] rnesv]qd rs]bj sn mdv ]qbghsdbstqdr hr+ enq dw]lokd+ cdrbqhadc enq lnkdbtk]q
cxm]lhbr ]kfnqhsgl hm Y6[+ ]mc enq sgd rnktshnm ne ’mhsd dkdldms oqnakdlr hm Y01[-
Bnmbdqmhmf odqenql]mbd onqs]ahkhsx+ sgd ]tsgnqr ne Y00[ bnlo]qd sgd ]kfnqhsgl
odqenql]mbd enq BTC=+ GB))+ GHO+ ]mc NodmBK a]bjdmcr-

Bnlo]qdc sn oqduhntr vnqj+ vd ghfgkhfgs sg]s sghr vnqj bnms]hmr sgd enkknv,
hmf mnudk bnmsqhatshnmr9

z Vd chrbtrr sgd onqshmf ne khmd]q ]kfdaq] jdqmdkr eqnl BTC= sn GHO-
z Vd ]cc sdbgmnknfx sn sgd GHO dbnrxrsdl sg]s hr k]bjhmf ats mddcdc+ d-f-+ ]
rtav]qo bnnodq]shud fqnto bnmbdos vhsg rgtffd nodq]shnmr-

z Vd bnlo]qd sgd odqenql]mbd ne GHO ]mc BTC= jdqmdkr bnlhmf eqnl sgd
r]ld bncd a]rd ]mc oqnuhchmf sgd r]ld etmbshnm]khsx-

z To sn ntq jmnvkdcfd+ gkiGn hr sgd ’qrs nodm,rntqbd ro]qrd khmd]q ]kfdaq]
khaq]qx rtoonqshmf rdudq]k l]sqhw sxodr %Bnn+ Brq+ Rdkko+ Dkk+ Gxaqhc(+ rnkudqr
%BF+ AhBF+ FLPDR+ dsb-(+ oqdbnmchshnmdq %aknbj,i]bnah( ]mc e]bsnqhy]shnm
%O]qHKT ]mc O]qHKTS( nm =LC ]mc MUHCH= FOTr-

z Vd dmrtqd etkk qdrtks qdoqnctbhahkhsx ax ]qbghuhmf ]kk odqenql]mbd qdrtksr-

Adenqd oqnuhchmf lnqd cds]hkr ]ants sgd onqshmf d nqs hm Rdbs- 2+ vd qdb]kk
rnld a]bjfqntmc hmenql]shnm ]ants BTC= ]mc GHO hm Rdbs- 1- Vd oqdrdms sgd
qdrtksr ne sgd dwodqhldmsr ne sgd r]ld jdqmdkr adhmf bnlohkdc ax BTC= ]mc
GHO hm Rdbs- 3- Vd bnmbktcd hm Rdbs- 4 vhsg ] rtll]qx ne sghr o]odq-

1 AUaifpntmc

1-. Bnlotsd Smhydc Cduhbd :pbghsdbstpd + BSC:

MUHCH= cdudknodc sgd BTC= oqnfq]llhmf lncdk ]mc sgd bnqqdronmchmf mubb
bnlohkdq dm]akhmf cdudknodqr sn vqhsd jdqmdkr enq FOT ]qbghsdbstqdr trhmf sgd B
nq B)) oqnfq]llhmf k]mft]fd- =krn+ MUHCH= oqnuhcdr rdudq]k l]sg khaq]qhdr+
khjd btAK=R+ btRO=PRD+ ]mc btRNKUDP bnms]hmhmf qd]cx,sn,trd mtldqhb]k
]kfnqhsglr ]mc bnqd etmbshnm]khshdr ]kknvhmf trdqr sn d]rhkx cdudkno ] o]q]kkdk
]ookhb]shnm vhsgnts vqhshmf cduhbd jdqmdk etmbshnmr-

Hm Khrshmf 0-0+ BTC= trdr fkna]k ]r sgd cdbk]q]shnm rodbh’dq sn sdkk sgd
bnlohkdq sghr etmbshnm qtmr nm ] FOT ]mc trdr dwdbtshnm bnm’ftq]shnm rxms]w
%;;; ===( sn qdoqdrdms sgd bnm’ftq]shnm ne fqhc ]mc aknbj chldmrhnmr+ dwdbtshnm
rsqd]l+ ]mc cxm]lhb]kkx,rhydc rg]qdc ldlnqx- Lnqdnudq+ cdudknodqr b]m oqnuhcd
]cchshnm]k hmenql]shnm ]s bnlohkd,shld sn noshlhyd sgd dwdbtshnm odqenql]mbd
khjd k]tmbg antmcr sn khlhs sgd qdfhrsdq tr]fd-
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Kgrsgme . . ATC: jdpmdk kZtmbg rxmsZw-

1-1 Bffff Gdsdpnfdmdntr+Bnlotsd HmsdpeWbd enp NnpsWahkhsw + GHN

=r ] bntmsdqo]qs sn MUHCH=”r BTC= dbnrxrsdl+ =LC lnqd qdbdmskx cdudknodc
sgd FOT bnlotsd oqnfq]llhmf k]mft]fd ]mc khaq]qx dbnrxrsdl –P]cdnmNodm,
Bnlotsd“ %PNBl(- PNBl hr sgd ’qrs nodm,rntqbd GOB ok]senql enq FOT
bnlotshmf rghoohmf vhsg rdudq]k l]sg khaq]qhdr+ khjd qnbAK=R+ qnbRO=PRD+ qnb,
RNKUDP+ dsb- Sghr dm]akdr trdqr sn cdudkno FOT,qd]cx ]ookhb]shnmr hm PNBl
khjd hm sgd BTC= dbnrxrsdl-

=rhcd eqnl PNBl+ =LC ]krn oqnuhcdr ] GHO ]arsq]bshnm sg]s b]m ad rddm ]r
] ghfgdq k]xdq nm sno ne sgd PNBl dbnrxrsdl+ dmudknohmf ]krn sgd BTC= dbnrxr,
sdl- Sgd hcd] adghmc GHO hr sn hmbqd]rd ok]senql onqs]ahkhsx ne rnesv]qd ax oqn,
uhchmf ]m hmsdqe]bd sgqntfg vghbg etmbshnm]khsx ne ansg+ PNBl ]mc BTC= b]m
ad ]bbdrrdc- Nauhntrkx+ sghr vntkc qdlnud sgd atqcdm ne bnmudqshmf nq qdvqhshmf
bncd enq ch dqdms g]qcv]qd ]qbghsdbstqdr+ sgdqdvhsg ]krn qdctbhmf sgd l]hmsd,
m]mbd d nqs enq khaq]qhdr rtoonqshmf rdudq]k a]bjdmcr-

Hm Khrshmf 0-1+ GHO trdr sgd r]ld cdbk]q]shnm rodbh’dq fkna]k khjd BTC=+
ats ] ch dqdms dwdbtshnm bnm’ftq]shnm rxms]w- GHO g]mckdr jdqmdkr ed]stqhmf
sdlok]sd o]q]ldsdqr vhsg sgd l]bqn GHO JDPMDKR M=LD- =ksgntfg GHO
]krn oqnuhcdr sgd k]tmbg antmcr fi]f enq jdqmdk noshlhy]shnm+ sgd d dbs ch dqr
eqnl sgd BTC= dbnrxrsdl ctd sn sgd ]qbghsdbstq]k ch dqdmbdr adsvddm =LC
]mc MUHCH= FOTr-
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Kgrsgme . 1 GHO jdpmdk kZtmbg rxmsZw-

1-2 Ch dpdmbd Adsvddm :IC Wmc MUHCH: DNSr

Sgd oqhl]qx sdbgmhb]k ch dqdmbd adsvddm =LC ]mc MUHCH= FOTr hr sgd mtl,
adq ne sgqd]cr sg]s ]qd dwdbtsdc rhltks]mdntrkx hm ] v]udeqnms.v]qo- Hm MUHCH=



FOTr+ ] v]qo bnms]hmr 21 sgqd]cr+ hm =LC FOTr+ ] v]udeqnms bnms]hmr 53
sgqd]cr- Sghr ch dqdmbd onsdmsh]kkx hlo]bsr ]kk nsgdq o]q]ldsdq bnm’ftq]shnmr
]mc g]r sn ad s]jdm hmsn ]bbntms vgdm cdrhfmhmf jdqmdkr ]mc rdsshmf sgqd]c
aknbj rhyd+ rg]qdc ldlnqx ]mc qdfhrsdq tr]fd+ ]mc bnlotsd fqhc rhyd enq u]khc
o]q]ldsdq rdsshmfr ]mc noshl]k jdqmdk odqenql]mbd-

Kdrr qdkdu]ms enq sgd jdqmdk cdrhfm ]mc o]q]ldsdq bgnhbd hr sg]s FOTr ch dq
hm sgd mtladq ne ltkshoqnbdrrnqr ]bbtltk]sdc hm ] rhmfkd cduhbd ]mc hm sgd
ldlnqx a]mcvhcsg- Vghkd sgdrd ]qd rshkk qdkdu]ms enq jdqmdk noshlhy]shnm+ sgdx
q]qdkx hlo]bs sgd bnqqdbsmdrr ne ] jdqmdk cdrhfm- Vd dk]anq]sd nm sgd noshlhy]shnm
ne jdqmdk o]q]ldsdqr hm Rdbs- 2-4-

=r ne snc]x+ =LC”r PNBl dbnrxrsdl z ]mc sgd GHO cdudknoldms dbnrxr,
sdl z rshkk k]bjr rnld jdx etmbshnm]khsx ne sgd BTC= dbnrxrsdl- Enq dw]lokd+
GHO k]bjr ] bnnodq]shud fqnto hmsdqe]bd sg]s b]m ad trdc enq fidwhakd sgqd]c
oqnfq]llhmf hmrhcd ] v]udeqnms+ rdd Rdbs- 2-2-

2 Mnpshmf BTC5 EtmashnmUkhsx sn sgd GHM Danrxrsdl

Mdws+ vd qdonqs ]mc chrbtrr gnv vd onqsdc gkiGn”r FOT etmbshnm]khsx ]u]hk,
]akd enq BTC= a]bjdmcr sn sgd GHO dbnrxrsdl- Sn tmcdqrs]mc sgd sdbgmhb]k
qd]khy]shnm+ hs hr gnvdudq trdetk sn ’qrs dk]anq]sd nm gkiGn”r cdrhfm-

2-. Dhmifn Cdrhfm

= ghfg,kdudk nudquhdv ne gkiGn”r rnesv]qd ]qbghsdbstqd hr uhrt]khydc hm Ehf- 0-
Sgd khaq]qx cdrhfm bnkkdbsr ]kk bk]rrdr ]mc fdmdqhb ]kfnqhsgl rjdkdsnmr hm sgd
–bnqd“ khaq]qx vghbg+ gnvdudq+ hr trdkdrr vhsgnts sgd cqhudq jdqmdkr ]u]hk]akd
hm sgd –nlo“+ –btc]“+ ]mc –qdedqdmbd“ enkcdqr- Vd mnsd sg]s –qdedqdmbd“ bnm,
s]hmr rdptdmsh]k BOT jdqmdkr trdc sn u]khc]sd sgd bnqqdbsmdrr ne sgd ]kfnqhsglr
]mc ]r qdedqdmbd hlokdldms]shnm enq sgd tmhs sdrsr qd]khydc trhmf sgd fnnfkdsdrs
Y5[ eq]ldvnqj- Sgd –hmbktcd“ enkcdq bnms]hmr sgd otakhb hmsdqe]bd- Dwsdmchmf
gkiGn”r rbnod sn =LC ]qbghsdbstqdr+ vd ]cc sgd –gho“ enkcdq bnms]hmhmf sgd

jdqmdkr hm sgd GHO k]mft]fd+ ]mc sgd –bnllnm“ enkcdq enq ok]senql,onqs]akd
jdqmdkr vhsg sgd hmsdmshnm sn qdctbd bncd ctokhb]shnm+ rdd Rdbs- 2-1-

Sn qdctbd sgd d nqs ne onqshmf gkiGn sn =LC ]qbghsdbstqdr+ vd trd sgd
r]ld a]rd bnlonmdmsr ne gkiGn khjd bnmehf+ ahmchmf+ dvdbtsnp+ sxodr ]mc
nodp]shnmr+ vghbg vd nmkx dwsdmc ]mc ]c]os sn rtoonqs GHO-

z bnmehf9 g]qcv]qd,rodbh’b hmenql]shnm khjd v]qo rhyd+ k]md l]rj sxod+ dsb-:
z ahmchmf9 sgd B)) rsxkd nudqkn]cdc hmsdqe]bd sn udmcnqr” AK=R ]mc ro]qrd
AK=R khaq]qx ]mc sgd dwbdoshnm b]kkr ne sgd jdqmdkr mns hlokdldmsdc:

z dvdbtsnp9 sgd –g]mckd“ bnmsqnkkhmf sgd jdqmdk dwdbtshnm ]mc sgd ]ahkhsx sn
rvhsbg sgd dwdbtshnm ro]bd %g]qcv]qd a]bjdmc(:

z sxodr9 sgd sxod ne jdqmdk u]qh]akdr ]mc sgd bnmudqrhnm adsvddm khaq]qx u]qh,
]akdr ]mc jdqmdk u]qh]akdr:



Age . Sgd gkiGn khapZpx cdrhfm nudpuhdv- Sgd bnlonmdmsr Zccdc vgdm dwsdmchmf
sgd rbnod sn :LC FOTr Zpd sgd –GHO“ Zmc sgd –Anllnm“ lnctkdr-

z nodp]shnmr9 ] bk]rr ]ffqdf]shmf ]kk sgd onrrhakd jdqmdk hlokdldms]shnmr rtbg
]r qdedqdmbd+ nlo+ btc] ]mc gho+ vghbg ]kknvr sn rvhsbg adsvddm hlokdldm,
s]shnmr ]s qtmshld-

Lnqdnudq+ rnld bnlonmdmsr ]qd mns nfflbh]kkx rtoonqsdc ax udmcnqr+ d-f- bnl,
okdw mtladq ]snlhb ]cc0 nm BTC= ]mc GHO+ ]mc v]qo,vhcd bnnodq]shud fqntor
nm GHO- Enq sgd etmbshnm]khsx lhrrhmf hm ansg udmcnq dbnrxrsdlr+ vd hlokdldms
BTC= cduhbd etmbshnmr oqnuhchmf sgd etmbshnm]khsx ]mc ]ookx sgd vnqj finv
khrsdc hm =kfnqhsgl 0 sn fdmdq]sd bnqqdronmchmf GHO jdqmdkr- Enq bnlonmdmsr
lhrrhmf nmkx hm nmd udmcnq dbnrxrsdl+ vd hlokdldms jdqmdkr oqnuhchmf sgd r]ld
etmbshnm]khsx hm sgd nsgdq dbnrxrsdl- Hm o]qshbtk]q+ ]r sgd GHO dbnrxrsdl btq,
qdmskx k]bjr sgd v]qo,vhcd bnnodq]shud fqntor vd l]jd gd]ux trd ne+ vd hlokd,
ldms cduhbd etmbshnmr sg]s oqnuhcdr sghr etmbshnm]khsx enq =LC ]qbghsdbstqdr+
rdd Rdbs- 2-2-

2-1 :unhchmf Bncd CtokhbWshnm

Cdrohsd sgd e]bs sg]s sgd GHO dbnrxrsdl ]kknvr sn bnlohkd sgd jdqmdkr enq ansg
=LC ]mc MUHCH= FOTr+ vd btqqdmskx ok]m sn rshkk oqnuhcd m]shud rtoonqs
hm sgd BTC= dbnrxrsdl- Sghr bgnhbd hr lnshu]sdc ax sgd vhcdq ]cnoshnm ne
BTC= hm sgd ghfg odqenql]mbd bnlotshmf bnlltmhsx nm sgd nmd rhcd+ ]mc sgd
tmbkd]q etstqd ne sghr etmbshnm]khsx qdl]hmhmf hm sgd GHO dbnrxrsdl nm sgd nsgdq
rhcd- = sghqc qd]rnm hr sg]s oqdrdquhmf m]shud BTC= rtoonqs ]kknvr sn tshkhyd
mnudk BTC=,rodbh’b sdbgmnknfx+ d-f-+ cxm]lhb o]q]kkdkhrl- Dwsdmchmf gkiGn

: bnlokdw Zsnlhb Zcc hmunkudr rdoZpZsd pdZk Zmc hlZfhmZpx Zsnlhb Zcc Zmc sgtr hr
mns rsphbskx Zm Zsnlhb nodpZshnm) Zr mn npcdphmf adsvddm sgd hmchuhctZk bnlonmdmsr
ne ltkshokd bnlokdw Zsnlhb nodpZshnmr hr ftZpZmsddc-



sn =LC FOTr+ ] oqhl]qx fn]k v]r sn ]unhc ] rhfmh’b]ms kdudk ne bncd ctokhb],
shnm- Enq sghr otqonrd+ vd bqd]sdc sgd –bnllnm“ enkcdq bnms]hmhmf ]kk jdqmdkr ]mc
cduhbd etmbshnmr sg]s ]qd hcdmshb]k nq sgd BTC= ]mc sgd GHO dwdbtsnq dwbdos
enq jdqmdk bnm’ftq]shnm o]q]ldsdqr %rtbg ]r v]qo rhyd nq k]tmbg antmcr(- Sgdrd
bnm’ftq]shnm o]q]ldsdqr ]qd mns rds hm sgd jdqmdk ’kd bnms]hmdc hm sgd –bnl,
lnm“ enkcdq+ ats hm sgd ’kdr knb]sdc hm –btc]“ ]mc –gho“ sg]s ]qd hmsdqe]bhmf
sgdrd jdqmdkr- Sghr v]x vd b]m ]unhc bncd ctokhb]shnm vghkd rshkk bnm’ftqhmf sgd
o]q]ldsdqr enq noshl]k jdqmdk odqenql]mbd nm sgd chrshmbs g]qcv]qd a]bjdmcr-

2-2 BnnodpWshud Dpntor

BTC= 8 hmsqnctbdc bnnodq]shud fqntor enq fidwhakd sgqd]c oqnfq]llhmf- Bnno,
dq]shud fqntor oqnuhcd ]m hmsdqe]bd sn g]mckd sgqd]c aknbj ]mc v]qo fqntor ]mc
]ookx sgd rgtffd nodq]shnmr sg]s ]qd trdc gd]uhkx hm gkiGn enq noshlhyhmf
ro]qrd khmd]q ]kfdaq] jdqmdkr- GHO Y2[ nmkx rtoonqsr aknbj ]mc fqhc fqntor vhsg
sgpd]c p]mi (+ rhyd ( ]mc rxmb (+ ats mn rtav]qo,vhcd fqnto nodq]shnmr khjd
rgtffdr ]mc unsd nodq]shnmr-

Enq dm]akhmf etkk ok]senql onqs]ahkhsx+ ] rl]kk bncda]rd+ ]mc oqdrdquhmf sgd
odqenql]mbd ne sgd noshlhydc BTC= jdqmdkr+ vd hlokdldms bnnodq]shud fqnto
etmbshnm]khsx enq sgd GHO dbnrxrsdl- Ntq hlokdldms]shnm rtoonqsr sgd b]kbtk],
shnm ne rhyd.q]mj ]mc rgtffd.unsd nodq]shnmr hmrhcd rtav]qo fqntor- Vd ]bjmnvk,
dcfd sg]s ntq bnnodq]shud fqnto hlokdldms]shnm l]x mns rtoonqs ]kk ed]stqdr ne
BTC=”r bnnodq]shud fqnto bnmbdos+ ats ]kk etmbshnm]khsx vd trd hm gkiGn-

Sgd bqnrr,ok]senql bnnodq]shud fqnto etmbshnm]khsx vd hlokdldms vhsg rgtffd
]mc unsd nodq]shnmr bnudqr BTC=”r m]shud hlokdldms]shnm- GHO nmkx hmsdqe]bdr
BTC=”r v]qo nodq]shnm vhsgnts rxmb rtfflw %vghbg qdedqr sn cdoqdb]sdc etmb,
shnmr(+ rn vd trd BTC=”r m]shud v]qo nodq]shnmr sn ]unhc bnlohkdq v]qmhmf
]mc bnlokhb]shnmr nm MUHCH= FOTr vhsg bnlotsd b]o]ahkhsx 6-w nq ghfgdq- Vd
]kv]xr trd rtav]qor vhsg bnmshftntr sgqd]cr+ rn vd b]m trd sgd aknbj hmcdw sn
hcdmshex sgd sgqd]cr” rtav]qo hc ]mc hsr hmcdw hmrhcd sgd rtav]qo- Vd cd’md

Rhyd : Ehudm rtavWpo rhwd

P_mi : shc # Rhyd

K_mdNeerds : ⃝shc # v_porhyd . Rhyd⌊ ∼ Rhyd

L_ri : ⌋ / == &v_porhyd , Rhyd( ;; K_mdNeerds

vgdqd shc hr knb]k sgqd]c hc hm ] sgqd]c aknbj rtbg sg]s L]mi fhudr sgd knb]k hc
ne sghr rtav]qo+ ]mc / hr ] ahsl]rj ne 21.53 ahsr+ r]ld ahsr ]r k]md l]ri sxod+
’kkdc vhsg 0 ahsr ]bbnqchmf sn BTC=.=LC ]qbghsdbstqdr+ qdrodbshudkx- Trhmf
sghr cd’mhshnm+ vd b]m qd]khyd sgd bnnodq]shud fqnto hmsdqe]bd+ enq dw]lokd enq
sgd rgek vnp+ a]kkns+ ]mx+ ]mc ]kk etmbshnm]khsx9

rtav_po-rgek wnp&c_s_+ ahsl_ri( : rgek wnp&c_s_+ ahsl_ri+ Rhyd(

rtav_po-a_kkns&opdchb_sd( : & a_kkns&opdchb_sd( % L_ri( == K_mdNeerds

rtav_po-_mx&opdchb_sd( : & a_kkns&opdchb_sd( % L_ri( < /

rtav_po-_kk&opdchb_sd( : & a_kkns&opdchb_sd( % L_ri( << L_ri



Mnsd sg]s vd trd sgd a]kkns nodq]shnm sn hlokdldms ]mx ]mc ]kk nodq]shnmr-
Sgd nqhfhm]k v]qo a]kkns qdstqmr sgd ]mrvdq enq sgd dmshqd v]qo+ rn vd mddc
sn rghes ]mc l]rj sgd ahsr sn ]bbdrr sgd rtav]qo qdrtksr- Sgd a]kkns nodq]shnm
hr nesdm trdc hm bnmitmbshnm vhsg ahs nodq]shnmr khjd sgd onotk]shnm bntms %ono
-ntcp(+ vghbg ]qd oqnuhcdc ax B,rsxkd sxod,]mmns]sdc hmsqhmrhbr onobRkk[ hm
BTC= ]mc GHO- Sn ]unhc ]mx hrrtdr vhsg sgd 53ahs,vhcd k]md l]rjr nm =LC
FOTr+ vd oqnuhcd ] rhmfkd etmbshnm onobms vhsg nudqkn]cr enq 21 ]mc 53 ahs
hmsdfdqr ]r vdkk ]r ]m ]qbghsdbstqd,]fmnrshb k]md l]ri sxod sg]s oqnuhcdr sgd
bnqqdbs %tmrhfmdc( hmsdfdq sxod sn qdoqdrdms ] %rta(v]qo k]md l]rj-

0 sdlok_sd ;hms Rhyd + sxodm_ld T_ktdSxod =
1 ]]fkna_k]] unhc pdctbd&T_ktdSxod )]]pdrsphbs]] c_s_ + hms hmmdp]knnor( z
2 _tsn knb_k]c_s_ < c_s_Vsgpd_cHcw-w[4
3 enp &hms h < /4 h ; hmmdp]knnor4 h**( z
4 * _tsn fpnto < shkdc]o_pshshnm ;Rhyd =& sghr]sgpd_c]aknbi &((4
5 !op_fl_ tmpnkk
6 , enp &hms ahsl_ri < 04 ahsl_ri ; Rhyd4 ahsl_ri ;;< 0( z
7 * enp &hms ahsl_ri < 04 ahsl_ri ; fpnto-rhyd&(4 ahsl_ri ;;< 0( z
8 , bnmrs _tsn pdlnsd]c_s_ < ]]rgek]wnp&knb_k]c_s_ + ahsl_ri + Rhyd(4

0/ * bnmrs _tsn pdlnsd]c_s_ < fpnto-rgek]wnp&knb_k]c_s_ + ahsl_ri(4
00 knb_k]c_s_ < knb_k]c_s_ * pdlnsd]c_s_4
01 {
02 {
03 c_s_Vsgpd_cHcw-w[ < knb_k]c_s_4
04 {

Kgrsgme . 2 Qdctbd jdpmdk- Fpddm oZps hr bnnodpZshud fpnto hlokdldmsZshnm) Zmc pdc
oZps hr kdfZbx hlokdldmsZshnm

Age 1 gkiGn”r bnnodpZshud fpntor ur- kdfZbx etmbshnmr enp ch dpdms cZsZ sxodr nm
U0// ffkdes( Zmc QZcdnmUHH ffphfgs(- ffAnknp ’ftpd nmkhmd(

Sn ]rrdrr sgd odqenql]mbd ne ntq bqnrr,ok]senql bnnodq]shud fqnto hlokd,
ldms]shnm+ vd trd sgd knb]k qdctbshnm jdqmdk rgnvm hm Khrshmf 0-2 sg]s tshkhydc
dhsgdq sgd udmcnq”r kdf]bx etmbshnm]khsx %qdc( nq gkiGn”r bqnrr,ok]senql bnno,
dq]shud fqnto hmsdqe]bd %fqddm(- Hm Ehf- 1+ vd qdonqs sgd qtmshld mddcdc enq 0//
qdctbshnm nodq]shnmr %]esdq ] v]ql,to og]rd ne 0/ qdctbshnmr( nm MUHCH=”r
U0// FOT ]mc =LC”r P]cdnmUHH FOT- Sn dwbktcd sgd nudqgd]c ne sgd jdqmdk
k]tmbg ]mc ldlnqx nodq]shnmr+ vd qtm sgd jdqmdk dwdbtshmf –hmmdq knnor“ qdctb,
shnmr %khmd 3 ne Khrshmf 0-2( enq –hmmdq knnor ; 0///“ ]mc –hmmdq knnor ; 1///“




